Transfers Report

This report contains the transfers results.

Contest Name	Ward 10 - Annandale South
Valid Votes	5,104
Positions to be Filled	4
Quota	1,021

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Richard John BRODIE	Scottish Liberal Democrats	902
Ian CARRUTHERS	Scottish Conservative and Unionist	1,118
Cameron GARRETT	Scottish Green Party	166
George JAMIESON	Scottish National Party (SNP)	1,104
Sean MARSHALL	Scottish Labour Party	975
Allan WEILD	Scottish Conservative and Unionist	839
	Total	5,104

Candidate Ian CARRUTHERS Elected with 1,118 votes, being in excess of the quota of 1,021 Candidate George JAMIESON Elected with 1,104 votes, being in excess of the quota of 1,021

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Ian CARRUTHERS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard John BRODIE	112	0.08676	9.71712
Transfer to Sean MARSHALL	85	0.08676	7.37460
Transfer to Allan WEILD	807	0.08676	70.01532
No further preference	106	0.08676	9.19656
Not transferred due to rounding			0.00232
	Total		97.00000

Transfers Report

This report contains the transfers results.

83.00000

Stage 3 - Surplus of George JAMIESON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard John BRODIE	168	0.07518	12.63024
Transfer to Cameron GARRETT	388	0.07518	29.16984
Transfer to Sean MARSHALL	276	0.07518	20.74968
Transfer to Allan WEILD	26	0.07518	1.95468
No further preference	246	0.07518	18.49428
Not transferred due to rounding			0.00128
	Total		83.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Cameron GARRETT

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard John BRODIE	60	1.00000	60.00000
Transfer to Sean MARSHALL	52	1.00000	52.00000
Transfer to Allan WEILD	10	1.00000	10.00000
Transfer to Richard John BRODIE	1	0.08676	0.08676
Transfer to Sean MARSHALL	2	0.08676	0.17352
Transfer to Allan WEILD	3	0.08676	0.26028
Transfer to Richard John BRODIE	147	0.07518	11.05146
Transfer to Sean MARSHALL	103	0.07518	7.74354
Transfer to Allan WEILD	3	0.07518	0.22554
No further preference	44	1.00000	44.00000
No further preference	2	0.08676	0.17352
No further preference	135	0.07518	10.14930
Not transferred due to rounding			0.00000
	Total		195.86392

Transfers Report

This report contains the transfers results.

Stage 5 - Surplus of Sean MARSHALL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard John BRODIE	538	0.03954	21.27252
Transfer to Allan WEILD	125	0.03954	4.94250
Transfer to Richard John BRODIE	27	0.00343	0.09261
Transfer to Allan WEILD	37	0.00343	0.12691
Transfer to Richard John BRODIE	203	0.00297	0.60291
Transfer to Allan WEILD	18	0.00297	0.05346
No further preference	364	0.03954	14.39256
No further preference	23	0.00343	0.07889
No further preference	158	0.00297	0.46926
Not transferred due to rounding			0.00972
	Total		42.04134

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Allan WEILD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard John BRODIE	348	1.00000	348.00000
Transfer to Richard John BRODIE	316	0.08676	27.41616
Transfer to Richard John BRODIE	8	0.07518	0.60144
Transfer to Richard John BRODIE	77	0.03954	3.04458
Transfer to Richard John BRODIE	18	0.00343	0.06174
Transfer to Richard John BRODIE	10	0.00297	0.02970
No further preference	501	1.00000	501.00000
No further preference	494	0.08676	42.85944
No further preference	21	0.07518	1.57878
No further preference	48	0.03954	1.89792
No further preference	19	0.00343	0.06517
No further preference	8	0.00297	0.02376
Not transferred due to rounding			0.00000
	Total		926.57869